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Exit Ticket/Error Analysis

1. Astudent was given the following problem:

Graph the solution of the linear inequality.
Ip—y—4S0 AN - Y- -4 70
i }\/
Here is the student’s work and answer to the problem. g
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because
The graph of the linear inequality is incorrect because
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Exit Ticket/Error Analysis
1. Astudent was given the following problem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Step 1:2x—y_4>0‘.
—y—d>=2x,
-y >—2x+4
y>2x—4
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following nrohlem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Stepl:2x—y—4>0

¥>'2x — 4
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis

1. Astudent was given the following problem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem

Step 1: 2x — y — 4/?’ o 5 W 4>0
—y — 4 >=2x 2 -7

=y > <=2x+4 ¥ ey 0-2x
y>2x —4 o%[_; Ty
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because.
The graph of the linear inequality is incorrect because

e e To L : O H \ o\ 874 \
j‘okg{) \ O‘(’ J\Q’ \ l{\3 () ?\ \ ‘“.‘"._‘z'_ ( )\\51\‘]‘)\ B \\\) | Vv ‘L fr \ \G .,
S MO ?’\ L ROV S
\ 4 -
=34 < el Va
T TBIRY
O
..; Wal :' :\
0 -

O CSV\(&'\I:A‘
e ok 3\3\3 Ldlle oy 6 L)SN\LB’ ARGE e ST SONE Ny

. Yo ((J"UJ-L
C"l P i B\CS\(L_, oV +i,\,u4§- (_LLLJL(J\_Qr)L Jjg O U\\ - e
'\(\W et Did e \Jm&h.lnﬁ nalde cun  @rter ¢ V\.{du(,,

UASe W Ky '?VD\?U—WLm


Lynn
Highlight


ameesSin o (D
Exit Ticket/Error Analysis

1. A student was given the following problem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Step1l:2x—y—4>0

—y =4 > —=2x
-y >—2x+4
y>2x—4
Step 2 & Step 3:
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:

The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following problem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Stepl:2x —y—4>0 % -yHO
—y—4>-2x "o
-y >-2x+4 L \
y>2x—4 ¥
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Is the student correct? Explain your reasoning.

L Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis

1

S

A student was given the following problem:

Graph the solution of the linear inequality.
2x—y—=4>0

Here is the student’s work and answer to the problem.

Step1:2x—y—4>0 Ly-y-4>0
| L
—y—4>—2x * '
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Graph the solution of the linear inequality.
2x—y—4>0

Exit Ticket/Error Analysis
1. Astudent was given the following problem:

Here is the student’s work and answer to the problem.

Stepl:2x—y—4>0
¥ =4>-2x
-y > —|2x+4
y>2x—4
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following problem:

Graph the solution of the linear inequality.
2x—y—=4>0

Here is the student’s work and answer to the problem.

Stepl:2x—y—4>0
—yv—4>—2x
-y > —=2x+4
v>2x—4
Step 2 & Step 3:
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following problem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Stepl:2x—y—4>0

—y—4>-2x
—y b —2% 4
y>2x—4
Step 2 & Step 3:
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following problem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Stepl:2x—y—4>0
—y—4>-2x
-y > —2x+4
y>2x—4

Step 2 & Step 3:

Is the student correct? Explain your reasoning.

& Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following problem:

i

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Stepl:2x—y—4>0

-y —_;__.4 > —2x \\
-y > -2x+4 2\ YO
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Graph the solution of the linear inequality.
2x—y—4>0

Exit Ticket/Error Analysis
1. A student was given the following problem:

Here is the student’s work and answer to the problem.

Stepl:2x—y—4>0
—y—4>-2x
- 20+ 4
y>2x—4
Step 2 & Step 3:
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following problem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Stepl:2x —y—4>0

-y —4>=2x

-y >-2x +4

y>2x—4

Step 2 & Step 3:
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following problem:

Graph the solution of the linear inequality.
2x—y—4>90

Here is the student’s work and answer to the problem.

Stepl:2x—y—4>0
-y —4>-2x
-y >—2x+4
y>2x—4
Step 2 & Step 3:
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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Exit Ticket/Error Analysis
1. Astudent was given the following nroblem:

Graph the solution of the linear inequality.
2x—y—4>0

Here is the student’s work and answer to the problem.

Stepl:2x —y—4>0

—y —4 > ~Ix)
-y > —Zxc-l-"?l/
y>2x—4
Step 2 & Step 3:
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Is the student correct? Explain your reasoning.

Possible Sentence Starters:
The graph of the linear inequality is correct because....
The graph of the linear inequality is incorrect because....
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